

# Elite Edge

### Complete Analysis 2021-2024

www.eliteracing.com.au

## A long road but worth it!

- The Elite Edge strategy is extraordinary.
- It is for punters who can see the power and consistency of long-term performance in the following analysis.
- It is for punters who are 100% committed to win.
- It is the perfect mix, sourcing Elite Racing's main strategies.
- Plenty of action, very high winning strike rate at value odds and ultra consistent profit flow.

- Study the statistics and analysis that follow. The Elite Edge bets are the culmination of Elite's 30+ years working towards this specific goal:
- To build a one-bank plan that captures the absolute best of the best from each Elite Racing service:
- Melbourne, Sydney, Nationwide-Best, Platinum E4 bets.
- With the help of AI, the integration is in place.

### Elite Edge Let's look at the raw stats.

Jan 2021 to Oct 2024

- Races with Bets: 963
- Actual Bets: 1167
- Winners: 459
- % Winners/Races: 48%
- % Winners/Bets: 40%
- Average winning odds: \$4.36
- 287 Meetings
- Average 4 bets per meet
- Saturdays and Midweeks

- Average Bet (\$10k Bank): \$148 (1.48%).
- Bet: \$173,160
- Return: \$301,771
- Profit: \$128,611
- Profit on Turnover: 74.3%
- Profit Per Week: \$ 646
- Profit Per Month: \$2,799
- Profit Per Year: \$33,583

#### 2021-2024 Summary

ALL Bets

Elite Edge Bet 🗊	Elite Edge Profit
\$ 173,160	\$ 128,611
1167	74.3%
Be	1167
Win	459
Strike	39%
Ave V	\$ 4.36
Profit Pe	\$ 646
Profit Pe	\$ 2,799
Profit P	\$ 33,583

- 2021-2024 Monthly Summary
- \$10k Bank
- Bets range from \$100 to \$200

Date	Count of Elite Edge Bet	Sum of Elite Edge Bet	Sum of Elite Edge Return	Sum of Elit Edge Prof
■ 2021	278	41680	72597	30917
Jan	39	6330	13251	6921
Feb	19	2780	2546	-235
Mar	17	2500	5226	2726
Apr	36	5410	9228	3818
May	16	2450	3981	1531
Jun	16	2360	2874	514
Jul	21	3410	7340	3930
Aug	26	3920	6695	2775
Sep	19	2830	7684	4854
Oct	16	1980	1011	-969
Nov	27	3790	3843	53
Dec	26	3920	8919	4999
				30168
<b>■ 2022</b>	283	41520	71688	
Jan	27	4260	8286	4026
Feb	22	3560	6368	2808
Mar	29	4160	4426	266
Apr	25	3590	4383	793
May	13	1940	4368	2428
Jun	17	2490	4706	2216
Jul	10	1450	0	-1450
Aug	28	3940	2827	-1114
Sep	30	4340	9346	5006
Oct	17	2170	5789	3619
Nov	30	4070	7551	3481
Dec	35	5550	13639	8089
<b>□ 2023</b>	324	48330	84575	36245
Jan	36	5890	15656	9766
Feb	19	3120	5417	2297
Mar	28	4230	5578	1348
Apr	29	4580	6407	1827
May	19	2840	4276	1436
Jun	24	3430	8357	4927
Jul	18	2730	3826	1096
Aug	40	5770	7941	2171
Sep	34	4750	9492	4742
Oct	23	3330	6345	3015
Nov	33	4410	7005	2595
Dec	21	3250	4275	1025
<b>□ 2024</b>	283	41770	73135	31365
Jan	32	4790	7042	2252
Feb	30	4910	5725	815
Mar	45	6620	14984	8364
Apr	27	3950	12586	8636
May	21	2970	4978	2008
Jun	21	3220	4740	1520
Jul	12	1660	2495	835
Aug	41	6140	10179	4039
Sep	27	3830	5359	1529
Oct	27	3680	5048	1368
Total	1168		301995	128695

#### 2021 ONLY

Elite Edge Bet 🖵	Elite Edge Profit					
\$ 41,680	\$ 30,917					
278	74.2%					
Be	278					
Win	108					
Strike	39%					
Ave V	\$ 4.36					
Profit Pe	\$ 603					
Profit Pe	\$ 2,612					
Profit P	er Year:	\$ 31,348				

### 2022 ONLY

Super Bet	Super Ret	Sup	per Profit			
\$ 42,770	\$ 74,781	\$	32,011			
Be		284				
Wini		112				
Strike		<b>39</b> %				
Ave V	\$	4.13				
Profit Pe	\$	616				
Profit Pe	\$	2,668				
Profit P	er Year:	\$	32,011			

#### 2023 ONLY

Elite Edge Bet 🖅	Elite Edge Profit					
\$ 48,330	\$ 36,245					
324	75.0%					
Be	324					
Win	128					
Strike	40%					
Ave V	\$ 4.47					
Profit Pe	\$ 699					
Profit Pe	\$ 3,029					
Profit P	er Year:	\$ 36,344				

2024 ONLY (to October 31<sup>st</sup>, 2024)

Elite Edge Bet	Elite Edge Return	Elite Edge Profit
\$ 41,770	\$ 73,135	\$ 31,365
283	75.1%	
Be	283	
Win	112	
Strike	40%	
Ave V	\$ 4.41	
Profit Pe	\$ 732	
Profit Pe	\$ 3,171	
Profit P	er Year:	\$ 38,056

- 2021-2024 Quarterly
- With actual October 2024 qualifiers included to help align the summary with actual bets.

DateTrackRaceTABHorseFinDivElite Edge BetEdgeEdgeEdge0501 <th><b>D</b> JU HERROW</th> <th>EAUELLENUE</th> <th></th> <th></th> <th></th> <th></th> <th></th> <th></th> <th></th> <th></th>	<b>D</b> JU HERROW	EAUELLENUE								
Discort 24         Flemington         6         5         Arran Bay         1120         120         120           05-Oct-24         Flemington         8         3         Buckaroo         2nd         120         120         120           05-Oct-24         Flemington         8         4         Via Sistina         1st         55.00         120         600         480           05-Oct-24         Flemington         9         2         Sghirripa         1st         55.00         120         600         480           05-Oct-24         Flemington         9         2         Sghirripa         1st         55.00         120         -12           09-Oct-24         ndwick Kensingt         4         4         Captain Furai         1st         59.00         200         1800         160           12-Oct-24         Caulfield         1         3         Nails Murphy         120         -12         -12           12-Oct-24         Caulfield         4         3         See You In Heaven         3rd         120         -12           12-Oct-24         Caulfield         5         12         Coin Toss         120         -12           12-Oct-24         <						_		Bet	Edge	Elite Edge Profit
Display         File         Display         Display <thdisplay< th=""> <thdisplay< th=""> <thdisp< td=""><td>05-Oct-24</td><td>Randwick</td><td>4</td><td>4</td><td>Media World</td><td>3rd</td><td></td><td>150</td><td></td><td>-150</td></thdisp<></thdisplay<></thdisplay<>	05-Oct-24	Randwick	4	4	Media World	3rd		150		-150
Discrete	05-0ct-24	Flemington	6	5	Arran Bay			120		-120
OS-OCT-24         Flemington         9         2         Sphirripa         120         120         -12           O9-OCT-24         ndwick Kensingt         4         4         Captain Furai         150         -15           12-OCT-24         Caulfield         1         11         Extreme Virtue         1st         \$9.00         200         1800         160           12-Oct-24         Caulfield         1         3         Nails Murphy         120         -12           12-Oct-24         Caulfield         3         6         A Little Deep         2nd         200         -200           12-Oct-24         Caulfield         4         3         See You In Heaven         3rd         120         -12           12-Oct-24         Caulfield         5         12         Coin Toss         120         -12           12-Oct-24         Caulfield         5         12         Coin Toss         120         -12           12-Oct-24         Caulfield         10         4         Another Wil         120         -12           12-Oct-24         Caulfield         1         7         Flamin'Romans         1st         \$5.50         120         660         544	05-0ct-24	Flemington	8	з	Buckaroo	2nd		120		-120
Op-Oct-24         Indwinger         Image: Participant state         Image: Partimanter state         Image: Partimanter state	05-Oct-24	Flemington	8	4	Via Sistina	1st	\$5.00	120	600	480
12-Oct-24         Caulfield         1         11         Extreme Virtue         1st         59.00         200         1800         1600           12-Oct-24         Caulfield         1         3         Nails Murphy         120         -12           12-Oct-24         Caulfield         3         6         A Little Deep         2nd         200         -120           12-Oct-24         Caulfield         4         3         See You In Heaven         3rd         120         -120           12-Oct-24         Caulfield         5         12         Coin Toss         120         -120           12-Oct-24         Caulfield         5         12         Coin Toss         120         -120           12-Oct-24         Caulfield         5         12         Coin Toss         120         -120           12-Oct-24         Caulfield         10         4         Another Wil         120         -120           12-Oct-24         Caulfield         1         7         Flamin'Romans         1st         55.50         120         6600         540           16-Oct-24         Caulfield         1         11         Le Mans         120         -122           16-Oct-24 </td <td>05-Oct-24</td> <td>Flemington</td> <td>9</td> <td>2</td> <td>Sghirripa</td> <td></td> <td></td> <td>120</td> <td></td> <td>-120</td>	05-Oct-24	Flemington	9	2	Sghirripa			120		-120
12-Oct-24         Caulfield         1         3         Nails Murphy         120         -12           12-Oct-24         Caulfield         3         6         A Little Deep         2nd         200         -20           12-Oct-24         Caulfield         4         3         See You In Heaven         3rd         120         -12           12-Oct-24         Caulfield         5         12         Coin Toss         120         -12           12-Oct-24         Caulfield         5         12         Coin Toss         120         -12           12-Oct-24         Caulfield         5         12         Coin Toss         120         -12           12-Oct-24         Rosehill         8         10         Gringotts         2nd         150         -15           12-Oct-24         Caulfield         10         4         Another Wil         120         660         540           16-Oct-24         Caulfield         1         7         Flamin' Romans         1st         \$5.50         120         660         540           16-Oct-24         Wanwick Farm         5         2         Confess Our Dreams         1st         \$1.80         140         252         1112	09-Oct-24	ndwick Kensingt	4	4	Captain Furai			150		-150
12-Oct-24         Caulfield         3         6         A Little Deep         2nd         200         -20           12-Oct-24         Caulfield         4         3         See You In Heaven         3rd         120         -12           12-Oct-24         Caulfield         5         12         Coin Toss         120         -12           12-Oct-24         Caulfield         5         12         Coin Toss         120         -12           12-Oct-24         Rosehill         8         10         Gringotts         2nd         150         -15           12-Oct-24         Caulfield         10         4         Another Wil         120         -12           16-Oct-24         Caulfield         1         7         Flamin' Romans         1st         S5.50         120         660         544           16-Oct-24         Caulfield         1         11         Le Mans         120         -12           16-Oct-24         Caulfield         1         11         Le Mans         120         -12           16-Oct-24         Warwick Farm         5         2         Confess Our Dreams         1st         \$1.80         140         252         111 <t< td=""><td>12-Oct-24</td><td>Caulfield</td><td>1</td><td>11</td><td>Extreme Virtue</td><td>1st</td><td>\$9.00</td><td>200</td><td>1800</td><td>1600</td></t<>	12-Oct-24	Caulfield	1	11	Extreme Virtue	1st	\$9.00	200	1800	1600
12-0trop         Definition         1         Number of the second point p	12-Oct-24	Caulfield	1	з	Nails Murphy			120		-120
12-Oct-24         Cauffield         5         12         Coin Toss         120         120         -12           12-Oct-24         Rosehill         8         10         Gringotts         2nd         150         -12           12-Oct-24         Rosehill         8         10         Gringotts         2nd         150         -12           12-Oct-24         Rosehill         8         10         Gringotts         2nd         150         -12           12-Oct-24         Caulfield         10         4         Another Wil         120         -12           16-Oct-24         Caulfield         1         7         Flamin'Romans         1st         \$5.50         120         660         544           16-Oct-24         Caulfield         1         11         Le Mans         120         -12           16-Oct-24         Warwick Farm         5         2         Confess Our Dreams         1st         \$1.80         140         252         111           16-Oct-24         Caulfield         6         9         Verdad         3rd         120         -122           16-Oct-24         Caulfield         7         1         Tavi Time         1st         \$2.00	12-Oct-24	Caulfield	3	6	A Little Deep	2nd		200		-200
12-Oct-24         Rosehill         8         10         Gringotts         2nd         150         -15           12-Oct-24         Caulfield         10         4         Another Wil         120         -12           16-Oct-24         Caulfield         1         7         Flamin'Romans         1st         55.50         120         660         540           16-Oct-24         Caulfield         1         1         1         Le Mans         120         -12           16-Oct-24         Caulfield         1         11         Le Mans         120         -12           16-Oct-24         Caulfield         1         11         Le Mans         120         -12           16-Oct-24         Caulfield         6         9         Verdad         3rd         120         -12           16-Oct-24         Caulfield         6         9         Verdad         3rd         120         -12           16-Oct-24         Caulfield         7         1         Tavi Time         1st         \$2.00         140         280         140           16-Oct-24         Caulfield         7         5         Kin         2nd         120         -12 <td< td=""><td>12-Oct-24</td><td>Caulfield</td><td>4</td><td>з</td><td>See You In Heaven</td><td>3rd</td><td></td><td>120</td><td></td><td>-120</td></td<>	12-Oct-24	Caulfield	4	з	See You In Heaven	3rd		120		-120
12-Oct-24         Caulfield         10         4         Another Wil         120         -12           12-Oct-24         Caulfield         1         7         Flamin'Romans         1st         \$5.50         120         660         544           16-Oct-24         Caulfield         1         1         1         Le Mans         1st         \$5.50         120         660         544           16-Oct-24         Caulfield         1         11         Le Mans         120         -12           16-Oct-24         Caulfield         1         11         Le Mans         120         -12           16-Oct-24         Caulfield         6         9         Verdad         3rd         140         252         111           16-Oct-24         Caulfield         6         9         Verdad         3rd         120         -12           16-Oct-24         Warwick Farm         7         1         Tavi Time         1st         \$2.00         140         280         144           16-Oct-24         Caulfield         7         5         Kin         2nd         120         -12           16-Oct-24         Caulfield         7         14         Sparkling	12-Oct-24	Caulfield	5	12	Coin Toss			120		-120
Income         Income<	12-Oct-24	Rosehill	8	10	Gringotts	2nd		150		-150
16-Oct-24         Caulfield         1         11         Le Mans         10         120         -12           16-Oct-24         Warwick Farm         5         2         Confess Our Dreams         1st         \$1.80         140         252         112           16-Oct-24         Warwick Farm         5         2         Confess Our Dreams         1st         \$1.80         140         252         112           16-Oct-24         Caulfield         6         9         Verdad         3rd         120         -12           16-Oct-24         Caulfield         6         9         Verdad         3rd         120         -12           16-Oct-24         Warwick Farm         7         1         Tavi Time         1st         \$2.00         140         280         140           16-Oct-24         Caulfield         7         5         Kin         2nd         120         -12           16-Oct-24         Caulfield         7         14         Sparkling         120         120         -12           16-Oct-24         Caulfield         8         8         Kingswood         1st         \$2.60         120         312         192           19-Oct-24         <	12-Oct-24	Caulfield	10	4	Another Wil			120		-120
16-Oct-24         Warwick Farm         5         2         Confess Our Dreams         1st         \$1.80         140         252         111           16-Oct-24         Caulfield         6         9         Verdad         3rd         120         -12           16-Oct-24         Caulfield         6         9         Verdad         3rd         120         -12           16-Oct-24         Warwick Farm         7         1         Tavi Time         1st         \$2.00         140         280         140           16-Oct-24         Caulfield         7         5         Kin         2nd         120         -12           16-Oct-24         Caulfield         7         14         Sparkling         120         120         -12           16-Oct-24         Caulfield         7         14         Sparkling         120         -12           16-Oct-24         Caulfield         8         8         Kingswood         1st         \$2.60         120         312         192           19-Oct-24         Caulfield         8         2         Revolutionary Miss         2nd         120         -12           23-Oct-24         Warwick Farm         5         2	16-Oct-24	Caulfield	1	7	Flamin' Romans	1st	\$5.50	120	660	540
16-Oct-24         Caulfield         6         9         Verdad         3rd         120         -12           16-Oct-24         Warwick Farm         7         1         Tavi Time         1st         \$2.00         140         280         140           16-Oct-24         Caulfield         7         5         Kin         2nd         120         -12           16-Oct-24         Caulfield         7         5         Kin         2nd         120         -12           16-Oct-24         Caulfield         7         14         Sparkling         120         -12         -12           16-Oct-24         Caulfield         8         8         Kingswood         1st         \$2.60         120         312         192           19-Oct-24         Caulfield         8         2         Revolutionary Miss         2nd         120         -12           23-Oct-24         Warwick Farm         5         2         Zouatica         140         -14	16-Oct-24	Caulfield	1	11	Le Mans			120		-120
16-Oct-24         Warwick Farm         7         1         Tavi Time         1st         \$2.00         140         280         144           16-Oct-24         Caulfield         7         5         Kin         2nd         120         -120         -120           16-Oct-24         Caulfield         7         5         Kin         2nd         120         -120           16-Oct-24         Caulfield         7         14         Sparkling         120         -120           16-Oct-24         Caulfield         8         8         Kingswood         1st         \$2.60         120         312         190           19-Oct-24         Caulfield         8         2         Revolutionary Miss         2nd         120         -120           19-Oct-24         Caulfield         8         2         Revolutionary Miss         2nd         120         -120           23-Oct-24         Warwick Farm         5         2         Zouatica         140         -144	16-Oct-24	Warwick Farm	5	2	Confess Our Dreams	1st	\$1.80	140	252	112
16-Oct-24         Caulfield         7         5         Kin         2nd         120         -12           16-Oct-24         Caulfield         7         14         Sparkling         120         -12           16-Oct-24         Caulfield         7         14         Sparkling         120         -12           16-Oct-24         Caulfield         8         8         Kingswood         1st         \$2.60         120         312         192           19-Oct-24         Caulfield         8         2         Revolutionary Miss         2nd         120         -12         -12           23-Oct-24         Wanwick Farm         5         2         Zouatica         140         -14	16-Oct-24	Caulfield	6	9	Verdad	3rd		120		-120
16-Oct-24         Caulfield         7         14         Sparkling         120         -12           16-Oct-24         Caulfield         8         8         Kingswood         1st         \$2.60         120         312         192           19-Oct-24         Caulfield         8         2         Revolutionary Miss         2nd         120         120         -12           23-Oct-24         Warwick Farm         5         2         Zouatica         140         -14	16-Oct-24	Warwick Farm	7	1	Tavi Time	1st	\$2.00	140	280	140
16-Oct-24         Caulfield         8         8         Kingswood         1st         \$2.60         120         312         192           19-Oct-24         Caulfield         8         2         Revolutionary Miss         2nd         120         -12           23-Oct-24         Warwick Farm         5         2         Zouatica         140         -14	16-Oct-24	Caulfield	7	5	Kin	2nd		120		-120
19-Oct-24         Cauffield         8         2         Revolutionary Miss         2nd         120         -12           23-Oct-24         Warwick Farm         5         2         Zouatica         140         -14	16-Oct-24	Caulfield	7	14	Sparkling			120		-120
23-Oct-24 Warwick Farm 5 2 Zouatica 140 -14	16-Oct-24	Caulfield	8	8	Kingswood	1st	\$2.60	120	312	192
	19-Oct-24	Caulfield	8	2	<b>Revolutionary Miss</b>	2nd		120		-120
26-Oct-24 Randwick 4 4 Smashing Time 150 -15	23-Oct-24	Warwick Farm	5	2	Zouatica			140		-140
100 100 100 100 100 100 100 100 100 100	26-Oct-24	Randwick	4	4	SmashingTime			150		-150
26-Oct-24 Moonee Valley 8 11 Plenty Of Ammo 1st \$4.60 200 920 720	26-Oct-24	Moonee Valley	8	11	Plenty Of Ammo	1st	\$4.60	200	920	720
26-Oct-24 Moonee Valley 8 7 Rotal Champion 2nd 120 -12	26-Oct-24	Moonee Valley	8	7	Rotal Champion	2nd		120		-120
27-Oct-24 ndwick Kensingt 3 3 Briasa 1st \$1.60 140 224 84	27-0ct-24	ndwick Kensingt	3	З	Briasa	1st	\$1.60	140	224	84

eliteracing

Date 🎩	Count of Elite Edge Bet	Sum of Elite Edge Bet	Sum of Elite Edge Return	Sum of Elite Edge Profit
<b>■ 2021</b>	278	41680	72597	30917
Qtr1	75	11610	21023	9413
Qtr2	68	10220	16083	5863
Qtr3	66	10160	21719	11559
Qtr4	69	9690	13773	4083
<b>■ 2022</b>	283	41520	71688	30168
Qtr1	78	11980	19080	7100
Qtr2	55	8020	13457	5437
Qtr3	68	9730	12173	2443
Qtr4	82	11790	26979	15189
<b>■ 2023</b>	324	48330	84575	36245
Qtr1	83	13240	26651	13411
Qtr2	72	10850	19040	8190
Qtr3	92	13250	21259	8009
Qtr4	77	10990	17625	6635
<b>□ 2024</b>	283	41770	73135	31365
Qtr1	107	16320	27751	11431
Qtr2	69	10140	22304	12164
Qtr3	80	11630	18033	6403
Qtr4	27	3680	5048	1368
Total	1168	173300	301995	128695

\$	3,680	\$ 5,048	\$ 1,368
27		8	37.2%

**•** 2021-2024

Performance by Track

Date 💌	Count of Elite Edge Bet	Sum of Elite Edge Bet	Sum of Elite Edge Return	Sum of Elite Edge Profit
Ballarat	14	2000	3286	1286
Bendigo	17	2450	6526	4076
Canterbury	22	3090	5320	2230
Caulfield	294	43800	73269	29469
Cranbourne	17	2420	2395	-25
Flemington	313	45470	73248	27778
Geelong	3	450	1293	843
Gosford	1	150	390	240
Hawkesbury	2	300	390	90
Kembla Grange	2	300	1950	1650
Moonee Valley	151	22310	38530	16220
Mornington	20	3260	6830	3570
Newcastle	3	450	0	-450
Pakenham	13	1760	3520	1760
Randwick	64	9800	21345	11545
Randwick Kensington	42	5920	10381	4461
Rosehill	71	10780	20452	9672
Sandown Hill	88	13850	25772	11922
Sandown Lake	14	2130	2163	33
Warwick Farm	33	4640	6784	2144
Total	1184	175330	303843	128513

Elite Edge performance by Bet Size (\$10k bank)

Bet Size 🖵	Count of Elite Edge Bet	Sum of Elite Edge Bet	Sum of Elite Edge Return	
100	6	600	1340	740
120	300	36000	51812	15812
130	151	19630	31668	12038
140	230	32200	58170	25970
150	250	37500	65333	27833
200	247	49400	95520	46120
Total	1184	175330	303843	128513

- Links to Results Spreadsheets and Pdf Printouts.
- Please study the worst run printout. Some members would probably throw in the towel during this two month down period. Be prepared, no strategy is immune.



- Elite Edge Bets 2021-2024 Pdf
- Elite Edge Bets Worst Run July Aug 2022 Pdf
- Elite Edge Bets 2024-2025 Season So Far Pdf

### Get the Elite Edge!

Join a select club of Elite punters armed with the most potent racing investment strategy in Australian racing. Follow the instructions on the email and we will have you up and running in plenty of time for the first live meeting on November 16<sup>th</sup>, 2024.